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0 - 1 +0 1 + 0 + 0 0 - 1 + 0

I- 0 + 2 + 2 0 + 0 + 0 0 + 2 + 2
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Part2

O(d) Let u, ERR
and LEIR,

Prove that

-
Then,

d(u .v) = x((a ,b) · (d)

= d(ac + bd)
= (ac + cbd[



And,
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D(c) Solve
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land of
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Q- y + 2 z
- w = -

valiables :

⑪- 27
- D X

,]&
leading

O = O tree
variables :

0 = 0 z
,
w

Solve for leading variables and

give the free valiables

a new name .

X = - 1 + y - 2z
+WQ

y = 27 ②[ ↑z = t ③

w = H ⑪

Back substitute :

④ w = U



③ z = t

②y = 2z = 2t

DX = - 1 + y - 2z +
w

=

- 1 + 2t -2t
+ 4

=

- 1 + U

Answer
:

=

- 1 + u whereA,[Y = 2t can be any

z = t real numbers

w = u


